Two circles

Pewarenb

52 (331 y Y152, y2> = <m1 —m2> + <y1 —y2>

OrpaHquHanaanble I'IpM6fIVI)K€HI/I$I
T 1 [ 1

*—_— rl *—_— 2 2
Lyi=— Y=\ —I
) 2
mz = 7“1 + 1.5 7“2 y2 = T'l —_ <:E2 —_ 7’1 — T2>
2 2 2 2 2 2
Tty =r <$2—7’1—"“2> Ty =Ty

52 <x17y17$2ay2>+7'12 =52 (0 m,0 m,z,,y,)

52 <x1,y1>$2>y2>+7°22 =52 <7"1+7°2,0 mawlay1>

T, 0.176

Y1 : 0.984
:=Find y Y1 ’ =

- n <ac1 Y1,%2 y2> 1824 | ™

Ys 0.689

a::O,L..Q T X::[O m T, Ty r1+r2]T Y::[O m

180

U Yo Om]

v




B:=atan (

L::2-<\/S2 (1,915 Ts,Ys) +r2-,8+r1~(7'r—ﬁ)>:8.794 m

Ya

m
) =79.836 deg
Ly—T1—Ty

Three circles

1
I"-I 2
2
7‘3 = 0.4: m
4 N3
;% $033:—1 m y03:= 1.5 m -’,U4::2 m y4:=—1-5 m xg =2m y3:=—1.5 m
g
S
S
2wy =r’
v
i 2
= <373—7“1—7“2> +yy” =1y
J
xR
3 \/52<0 m,0 m,To3,Yo3) =71 +73
g— \/52<7'1+7'2,0 M, T3, Yo3) =To+T3 Yo3<0 m
\/52 <3747y4a$03,y03> =T
1 \/52 <$3,y3,1}03,y03> =73
Lo3 1.071
o Yos —0.902
§ Xy . 0.765
% YU, ::Flnd(x03,y03,m4,y4,:c3,y3>: —0.644 m
- Ty 1.299
| ys | | —0.574 |




> rl-sin(a) (m)

79+ Sin (a) (m)

Y (m)

rg-sin(a)+yp (m)

Next, we heed twice to solve the problem solved above - the problem of
two circles.



